	Math 9
Algebra Challenge 
		
	Name:
Date:
Block:


Simplify each expression.

	1. −−x−x
[bookmark: _GoBack]
	2. −n


	3. x−−x

	4. a −a 


	5. m−m

	6. p−p p−


	7. p−p

	8. p−−p


	9. −−x

	10. −−x−


	11. −p−

	12. −−x


	13. −−k k

	14. n−−n


	15. x−−x

	16. n−−n


	17. −x−−−x

	18. −xx


	19. a−−−a

	20. −−x−x−−x−x
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image1.png
1) 20=—4x-6x 2) 6=1-2n+5
2} {0}
3) 8r-2=-947x 4) a+S5=-Sa+5
=7 {0}
5) 4m-4=4m 6) p-1=5p+3p-8
No solution. ay
7) Sp-14=8p+4 8) p-4=-94p
-6} No solution.
9) -8=—(x+4) 10) 12=—4(-6x-3)
{4} {0}
1) 14=—(p-8) 12) 7-49=9
{-6} 4}
13) ~18 - 6k =6(1 + 30) 14) Sn+34=-2(1~7n)
-1 4}
15) 204x-3)-8=4+2x 16) 3n-5=-8(6+ 5n)
34 -1}
17) (1479~ 6(-7-9=36 18) ~3(4x+3) +4(6x + ) =43
{5} 4}
19) 24a-22=-4(1 - 6a) 20) -5(1 - 59+ 5(-8x~2) =4z~ 8¢

No solution. &)
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